
Y2 – Autumn – Block 2 – Step 6 – Add three 1-digit numbers Answers

Question Answer

1 7 + 3 + 6 = 16

2

6 + 7 + 3 = 16
6 + 3 + 7 = 16
7 + 3 + 6 = 16
Children may have found the last addition the easiest, as the first two digits summed to 
10

3
No
When we are adding numbers, it does not matter which order they are added.

4

a) 15
b) 18
c) 16
d) 19
e) 15
f) 19

5
19
Children may have added 8 and 2, and then added 9

6
a) 8 + 6 + 5 = 19
b) 2 + 4 + 5 = 11

7

a) 2
b) 6
c) 5
d) 7

8

a)

b)

c)
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